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Marking Policy

This policy gives guidance to staff on the purposes of marking and our procedures to help
ensure that feedback to children at Tiverton Academy is both consistent and effective.

What is marking?

Marking is one of the ways teachers can find out how a student is progressing, and thus
plan future teaching based on what she or he finds in the marking. And of course it provides
acknowledgement to the student of the work they have done.

The most valuable part of this process is the feedback — for the teacher and for the student.

Introduction

Marking and feedback are fundamental elements of the assessment of children’s work,
helping children become reflective learners and closing the gap between current and desired
performance.

This policy will:

e Promote high quality feedback throughout the school
* Provide an approach to marking that is both manageable and effective
« Standardise the schools’ approach to marking and feedback

Aims
Effective marking and feedback:

e Provides a dialogue between teachers and children

e Gives children clear strategies on how they can improve their work.

* Provides a tool for teacher assessment — diagnostic, formative or summative

e Helps the teacher to evaluate teaching and inform planning

» Positively reinforces children’s achievement and efforts

» Celebrates success whenever possible in order to raise self-esteem and encourages all
children to work to their full potential.

Marking & Feedback
1. Marking will be against the learning objective/success criteria

2. Any learning points / misconceptions will be addressed.
3. Pupils will have the opportunity to reflect on their feedback and question comments.

The following pens will be used

Task
Pencil for Infants / pencil (pen Pupils work
when awarded) for Juniors
Black or blue pen Teacher feedback
Purple pen Response to teacher feedback/editing




Types of Formative Marking & Feedback

In-Depth Teacher Marking

This should include quality written teacher feedback, identifying what has been achieved
in the lesson.
Teachers identify at least two positives and a next step comment to move pupils on.

Verbal Feedback

Verbal feedback is a valuable form of formative feedback. This type of feedback may be
used more frequently due to the nature of the subject. For example in design and
technology, art, music and physical education the most effective feedback is often
verbal.

Using Whole School Codes

It is not necessarily expected that staff correct every punctuation and grammatical error
in every piece of writing. Neither will every spelling mistake need to be corrected. In the
lower school, or for less able learners, it will be necessary to write the correct version for
the learner. As learners gain confidence and knowledge, they should be able to identify
and correct their own mistakes.

From Key Stage 2 onwards, all staff should use the whole-school marking codes — where
applicable.

Time should be built into subsequent lessons to allow learners to review their strengths

and targets and respond to the feedback they have been given.

Code Explanation

Sp Spelling mistake

LoV Achieved the learning objective
LO /2 Achieved mostly

LO not yet met

The learning objective has not been
achieved. It is important to use the correct
vocabulary not yet met to indicate that
there is scope to achieve this in the future.

T 1:1 (teacher to student ratio)
TA 1:1

To identify the number of pupils supported
within the group. This could be beside a
paragraph or at the end of the finished
piece.

Assume the work is independent if not
identified.

VF

Verbal feedback — identify specific area if
applicable




Next step (gap tasks) comments to be
identified with a ‘step to success’ symbol
highlighted in amber.

_I_I_
l/l_l_

When the pupil has completed the next
step, the teacher will tick through the ‘steps
to success’ symbol to show it has been
completed successfully.

ST

Supply Teacher

Please note: errors in pupils' work are noted with the use of a dot rather than an X.

Early Years

Codes

Explanation

I

Independent words or sentences to be
annotated on the side.

T or TA support with ratio

To identify the number of pupils supported

Eg: T 1:1 within the group. This could be beside a
paragraph or at the end of the finished
piece.

Tapestry Evidence uploaded onto tapestry by

teachers and support staff.

Interventions

T 1:1 and teacher initials
Eg.
T 1:1 FA — Interventions

If teachers or support staff work with an
intervention group the piece of work must
state the level of support (ratio) and initials
of the teacher working within the group or
child.

Red dots on front of books (stickers).

Red stickers identify those pupils that are
pupil premium.

SEN

Write or stick ITP targets next to applicable
pieces of work.




Light Touch/Acknowledgement Marking

Teachers will acknowledge all work variously through the use of ticks, teacher initials, simple
literacy corrections and/or brief attainment based comments.

Highlighting
Green — at least two child specific targets that have been achieved

Amber — This identifies a closing the gap prompt/next steps where further thinking/action is
required. This can occur as a reminder or scaffold prompt. Amber will also identify any
spelling next steps within the piece of work.

Yellow - highlighted pieces of work that are a greater depth standard.
Next Steps:

Reminder prompt: the simplest form of prompt and refers back to the learning
objective/success criteria

Scaffold prompt: provides further support. This may take the form of a question

Example prompt: this is the most detailed support and gives children examples from
which to choose

Eg. LO: to use adjectives to describe

Reminder prompt:

You have described what your monster looks like. Can you use adjectives to tell me more
about what type of monster he is?

Scaffold prompt:
What kind of monster was he? Change 'bad' for a word which makes him sound scarier. He
WaS @ vuvvevnnrennnnnns monster. With teeth like...............

Example prompt:

Instead of the word 'bad' you could use:
Terrifying

Ferocious

Spine-chilling

Eg. LO: To identify the calculation needed to solve a problem

Reminder prompt:

You've used addition to calculate the correct answer. Try using multiplication to calculate the
repeated addition.

Scaffold prompt:
3 bags of sweets at 25p each. Instead of 25+25+25= You could do 25x ? =

Example prompt:
6 bricks at 10cm high. Instead of the repeated addition you could try multiplication - 6x10=
or 10x6=
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